N = 0l & AF & F Al A

20098 & =0l &k LB A
SN He2REDY
B 92 B U NUMD(BILS /M4 - 23)

ol BEII=AL =E (chel &)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
HeEs2d 216,874,110 164,659, 114 52,214,996

= 178,188,493
s 30,588,900
J| 33,500
& 8,063,217
esg B 2 IIXMIL(BEES/46ieE - =E) 216,831,875 163,398,710 53,433,165
= 178,188,493
s 30,588,900
| 33,500
& 8,020,982
SEIIZANE &= 169,831,098 137,490, 360 32,340,738
= 165,861,305
& 3,969,793
SHIIZAE 29 - 22 24,500 25,400 A 900
201 LBHEHH| 10,000 10,000 0
01 At=2teldl 10,000 10,000 0
OsAIIZANE HAHANE=EY 8,400
OtdII=ANE 2AHANZ2/AL S 2 1,600
202 Oidl 12,500 13,400 A900
01 3UWAbI 12,500 13,400 A900
OFIIZANL B2l L NEHY 2,500
301 getEazg 2,000 2,000 0
10 dAIAHIEAZ 2,000 2,000 0
OZHIIZAIE HAHN2RAE 29 2,000
Helst=HelAld AXX2(=12) 704,347 273,960 430,387
= 541,805
= 162,542
403 XXM EXZ20IH 704,347 273,960 430,387
= 541,805
& 162,542
01 XXSHXMIA2EE 704,347 273,960 430,387
OIMeIste MelAld XX 704,347
2 541,805
== 162,542




SN He2REDY
HE: ote2 2F U IXMDBILE/HOEE - +7)
SHol: BHIIZAL 2B (Er9): & 2)
SH-EH . S2(30) - MRAY - BES Ofl & 04 e HRE2
FaMelAEASE (21) 1,617,000 2,585,000 A 968,000
= 1,617,000

403 XXM SA=0lH 1,617,000 2,585,000 A 968,000
2 1,617,000

01 XXESHI=2EX 1,617,000 2,585,000 A968,000
O HMelAld &X 1,617,000
= 1,617,000

=23 HAANEERN(2D) 5,088,000 0 5,088,000
2 5,088,000

403 THXIGHHSXH0IE 5,083,000 0 5,083,000
= 5,088,000

01 XXSHHMIA2EX 5,088,000 0 5,088,000
OJN=2hs SEHMelA4 &X 5,088,000
= 5,088,000

YAR SHETAL HE(2D) 80,275,000 53,811,000 26,464,000
= 80,275,000

403 XXIEHS K201 80,275,000 53,811,000 26,464,000
= 80,275,000

01 XXSHHA2EX 80,275,000 53,811,000 26,464,000
OHgaF o= A4 &5 80,275,000
= 80,275,000

e stedMeld EX(=21) 5,445,386 9,416,000 A3,970,614
2 5,067,000
= 378,386

403 XXIEHSA201H 5,445,386 9,416,000 23,970,614
= 5,067,000
= 378,386

01 XXM X=2EX 5,445,386 9,416,000 A3,970,614
OIS SHaH2Y & 5,445,386
= 5,067,000
< 378,386

St=HMelE &&(=21) 28,972,465 28,740,000 232,465
2 26,150,700
< 2,821,765




AN HSSEHY
M. o2s 28 2 IIXHIL(S#HES/MEIEE - =
Gl BEI|IZAIE &5 (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
403 XNXSHHSAE0|H 28,972,465 28,740,000 232,465
=2 26, 150,700
= 2,821,765
01 AXESHMASEEX 28,972,465 28,740,000 232,465
OdlE=XHel & &= 28,972,465
2 26, 150,700
= 2,821,765
Stx=Xel® gilela As(=21) 17,252,800 9,307,000 7,945,800
= 17,252,800
403 XNXESHHSA=20IM 17,252,800 9,307,000 7,945,800
= 17,252,800
01 XXESHAE2EX 17,252,800 9,307,000 7,945,800
Oot+=Xel & sXdc= A 17,252,800
= 17,252,800
ot£=2t) HH|(=1) 21,238,000 24,781,000 A3,543,000
= 21,238,000
403 XXISHHSA20|H 21,238,000 24,781,000 A 3,543,000
=2 21,233,000
01 XXSHMA=2EX 21,238,000 24,781,000 3,543,000
Odl=&H AHl 21,238,000
= 21,238,000
ol X2 As(=21) 88,000 84,000 4,000
= 88,000
403 XXSHHSA20|H 88,000 84,000 4,000
= 88,000
01 XXESHMASEEX 88,000 84,000 4,000
Oot=2H SXcla Az 88,000
= 88,000
s0E OlSol== &dI(=21) 9,125,600 8,467,000 658,600
= 8,543,000
= 582,600
403 XXSHHSA20|H 9,125,600 8,467,000 658,600
= 8,543,000
= 582,600




A 22280
Fa: 2122 BA U NHDZLE/NOEE - 47)
BHel SHIIEANE S (el &
SA - HB B9 (E) - NRAY - Ba S 0f et o e DS
01 AXSHMIA=2EXE 9,125,600 8,467,000 658,600
O=s0lE OtSot+== 4 9,125,600
= 8,543,000
= 582,600
=E g Ho 12,916,289 7,880,250 5,036,039
= 11,336,000
) 33,500
= 1,546,789
g2 - =HESY £ 22 (=1) 33,500 104,500 A71,000
Il 33,500
201 2Et=g| 2,500 2,500 0
p) 2,500
01 At22teld 2,500 2,500 0
ORI XEAY B2 Zd10= 2,500
Il 2,500
202 044 31,000 29,500 1,500
p) 31,000
01 =LHAHI 21,000 21,500 A500
CEEIES LS 7,500
Il 7,500
OtZ==H FCUXIAASE AEHEH 6,500
Jl 6,500
OL4ELSH LRFT 7,000
Il 7,000
04 =H=t0bl 10,000 0 10,000
Omrgac HAKX ofH= 10,000
Il 10,000
MEHSHE SRAL(=Z1) 4,818,889 4,003,750 815,139
= 4,390,000
< 428,889
403 X EHHSA=0lE 4,818,889 4,003,750 815,139
= 4,390,000
= 428,889
01 AXISHHMA2EXE 4,818,889 4,003,750 815,139
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SN SeesEIL
Mo 9e2 28 U INNL(BBRS/MGHE - +F)
CH9l: otXB 2 OHNE I3 (£ @8
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K %Egﬁ Hws2
308 XHXISHASOIH 13,000 15,000 A2,000
01 XXSHMBLRES 13,000 15,000 2,000
OMBH4E ISV 2Y 13,000
403 KRGS K01 162,000 0 162,000
01 XX =RE 162,000 0 162,000
ONLHAT RLEND ALY 162,000
A4+RABSRY FOXA(2D) 930, 188 843,120 87,068
=2 930, 188
403 XXESHS K201 930, 188 843,120 87,068
= 930, 188
01 XXCSHR=ZLEE 930, 188 843,120 87,068
ON+ABEPY FoIX 930, 188
2 930, 188
SHHAXY AL W (2D) 24,425,000 13,604, 125 10,820,875
= 22,720,000
= 1,705,000
403 KRGS K01 24,425,000 13,604, 125 10,820,875
= 22,720,000
= 1,705,000
01 XXICSHR=EE 24,425,000 13,604,125 10,820,875
OB+ FANY A48 Ny 24,425,000
2 22,720,000
= 1,705,000
APD STAE HBAY(2D) 7,868,900 2,775,000 5,093,900
= 7,868,900
403 XXISHS K01 7,868,900 2,775,000 5,093,900
= 7,868,900
01 KXCSHA=ERE 7,868,900 2,775,000 5,093,900
OARRLTAIL HEAIY 7,868,900
2 7,868,900
HASE SUHS4D HSXAY(2D) 61,000 0 61,000
=2 61,000
403 XXISHSKHZO0IH 61,000 0 61,000
= 61,000




SN USSR HIL
HE: 92 BN U MINND(BYSS/MGHLE - +7)
JIME 2 HN BZ chol: & 2

M-S (3) - HRAY - BES Aro e =2
01 XXIESHIHE2EX 61,000 0 61,000
OMASE SUEs2 HEXA 61,000
= 61,000
SHEA Zsid 273,500 235,500 38,000
S22 =384 =4 268,000 200,000 68,000
403 XXIEHSA=201H 268,000 200,000 68,000
01 XXX A2EX 268,000 200,000 68,000
OLz=HsS S=3&E4 e - 2el 168,000
OS=EA CIXRQEY B3 100,000
HR35tD OtE02 &Y 23 =24 5,500 35,500 230,000
202 Oidl 5,500 4,500 1,000
01 =Wobl 5,500 4,500 1,000
OOIELE 3HEA JHRI| AIGEH 5,500
BMPAAL (ASER B OIE/IIEH 42,235 36,624 5,611
| =&t 42,235 36,624 5,611
A=29 Jl=234l 42,235 36,624 5,611
201 LEH23H] 31,195 22,684 8,511
01 Atf2teld 31,195 22,684 8,511
ORA2Y AtR2t2/H| 31,195
202 O4Hl 11,040 13,440 A 2,400
01 =LA bI 11,040 13,440 A2,400
ORA2Y =AY 11,040




